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JIE 2 B E % out IN GROSS | HDCP NET
162 BEE %% 40 36 16 11.0 65.0
267 el & 39 40 19 13.0 66.0
M| EH Mt 39 41 80 14.0 66.0
M ps —HE 37 37 14 1.0 67.0
S5 /NIl 158 39 40 19 12.0 67.0
64 ATE FHHF 41 40 81 12.0 69.0
16 %7H  #a 40 40 80 11.0 69.0
8 REF J|/A 38 44 82 13.0 69.0
o MBI =R 40 40 80 10.0 70.0

1042 | #BiR &% 39 40 19 9.0 70.0
14 B — %t 42 40 82 11.0 71.0
1261 A& —E 39 38 11 5.0 12.0
134 Nk ENE 39 42 81 9.0 12.0
1441 Rk 4897 43 41 84 11.0 713.0
154 24t @ 39 40 19 6.0 713.0
1647 | P BIX 40 43 83 10.0 713.0
176 AR 1EX 39 44 83 10.0 713.0
184 1B K 47 41 88 14.0 74.0
19461 Bk RIA& 45 42 87 13.0 74.0
2061 EH FX 43 41 84 10.0 74.0
2146 %O B 44 44 88 14.0 74.0
2241\ %O FHi 41 41 82 8.0 74.0
2301 |F s 43 45 88 14.0 74.0
2461|1178 Bt 40 47 87 13.0 74.0
56 FX —& 38 47 85 11.0 74.0
2661 | E - 46 40 86 11.0 15.0
27618k BT 44 38 82 1.0 75.0
2861 RA ThiE 42 40 82 1.0 75.0
204 | 1LO ¥3Th 41 44 85 9.0 76.0
3062/ AE ZF 43 47 90 14.0 76.0
6L KHE  FE1T 46 42 88 10.0 78.0
3241 | HiE EhF 45 44 89 10.0 79.0
3367\ AP 46 47 93 14.0 79.0
MM | B BRE 43 48 91 12.0 79.0
356z | b4 FO=E 51 43 94 14.0 80.0
366L 1EE BE 45 45 90 10.0 80.0
3741 B3R &EA 42 49 91 10.0 81.0
38hL HER HR=E 43 51 94 13.0 81.0
396z |dbiEm 3L 43 51 94 13.0 81.0
4041 | FER BT 46 50 96 14.0 82.0
AR OAE Y NI 5 45 50 95 13.0 82.0
4241 |FUE =P 46 50 96 12.0 84.0
B ERE FE 46 47 93 8.0 85.0
AAGI H B 45 51 96 9.0 87.0
ASHT|ETIE  RA 56 47 103 11.0 92.0
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